BHiEE

BT 2 b

LRRKNEFHE

= 1 #MEXEE K




AR mRTAN BE M1TK

[1] (1) @ 3a2b® x 5ab* =3-5- a2+2b3+4 = 15a4b7 (&)
2, .3 _ 3
® Ty (:r;—3y+2z) ry2? ;r—|—a:yz (=3y) + 2?yz3 - 2z

22 Hy28 32y 118 4 02 yz3+1
= x3y23 — 3229?23 4 22%y2? (%)

2) © (2a+b—c)* = (2a)? + b+ (—c)* +2-(2a) - b+2-b-(—c)+2-(—c) - 2a
=4a? + b%® + c® + 4ab — 2bc — 4ca (&)
(3z —2)> = (32)° +3- (32)% - (=2) +3- (32) - (—2)* + (-2)?

=27z% — 54z + 36z — 8 (&)
(-1 +z+1)? ={(z - 1)@ +z+1)}?
= (a® 1)
= (2%)? — 223 +1
=x8 —2234+1 (B
@ (z+1)(x—1)(z+2)(z—2) = (2* — 1)(2? — 4)
= (2%)? —52% + 4
=x*—522+4 (&)
® (z+1)(z—1)(2*+1)(2* + 1) = (2? —1)(96 +1)(z? 4+ 1)
{( 22 =13+ 1)
(" )(96 +1)
=( 2 -

=281 (%)
3) @622+ —-2=0Bx+2)2x—-1) (&)

3 2 — 4

2 > 1 — -3

6 9 1

® (2% = 22)% — 2(2* — 22) — 3 = {(2* — 22) — 3}{(z* — 22) + 1}

= (2% — 22 —3)(2® — 22+ 1)
=(x—3)(z+1)(xz—1)* (&)

® 8a® + 64 = 8(a® + 8)
=8(a+2)(a® —2a+4) (&)
@ a* — 5a% — 36 = (a®)? — 5a% — 36
— (¢~ 9)(a® +4)
=(a—3)(a+3)(a®+4) (&)
® 322 + 5xy — 2y% —x + 5y — 2 =322 + (5y — 1)z — (2y% — 5y + 2)
-1 — -1
>< -2 — -4
2 -5
=3x2+(5y—1)x—(2y—1)(y—2)

—(y— — —y+2
1 > 2y—1 —  6y—3

DO — DN

S5y — 1
=Bzx—y+2)(zx+2y—1) &)



[2] (1)

y=—22+3x+1

_—2@9—%w)+1

- 3\2 9
—‘2{(””‘1) _1_6}+1

B 3\2 9
_—2@y—z);+§+4

- 3 17

=2 (o) /o% \ !
%)

TH Ao R I (% 17) (%)
oYL MES % (%)
<H2.

é%K,Z@f?7d,y:—%¥%,x%@ﬁ@ﬁﬁﬁ%uy%@E@ﬁWK

%ffw—ﬁﬁwﬂmmfvm, $7 22 ORHD -2 CThENS, 75713
WO TH L. LT, 797136 KO LI 12k 5. (&)

y=%x2+2x+3

= %(z2+4x)—|—3
2{x+2 —4}+3
(z+2)%-2+3

(x+2)?+1 5 ) x

.

TS OB, (-2, 1) (&)

wohERE, 2 =-2 (&)

Th5b.

X512 SOTT T, y:%xQ’i’, 2 WIOTEOHINT —2 , y WO EDHIIC
1 B FEARBLZb0THY, £72, 22 @mms% EHs, TR
THb LIhoT, 79 736EEKDLIHIIR5. (%)



[3] (1) THADS (1, —2) 7205, Ko B 2 R
y=alz—1)2?-2 (ax0)
YBTBH. TN (—1, 10) ZEBLDT,

10=a(-1-1)*-2
10=a-(-2)>-2
10 = 4a — 2

12 =4a

a=3

Lo,

y=3r—-1)2-2
=3(* —2r+1)-2
=32? —62+3 -2
cy=3x2—6x+1 (&)

(2) z#hk (=3, 0) THETLHSIEAIE (-3, 0) THD. LoT, K22 KB
y=a(z+3)° (a%0)
LB TR (-1, —4) 2ELDOT

—4=a(-1+3)?
—4=q-2°

—4 =4a
a=-—1

L7223-> T,

y=—(z+3)>
=—(2® + 62 +9)
cy=-—x*—-6x—-9 (&)



(3) kDD 2UWHEE, y=ar’+br+c (ax0) &B<.
o2 BB, 350, 5), (1,3), (3, 11) Z@5 05,
c=25 NGO
a+b+c=3 @
9a+3b+c=11 THO)
@z @ ®IARALT,

a+b:—2 ...@
9a+3b=6 —-®

®+3&D, 3a+b=2 &

@, & &V,
a+b=-2
=) 3a+b= 2
—2a = —4 coa=2
Ihz @ITRALT,
24b=-2 ob=-4

£oT, a=2, b=—-4, ¢c=57%DT,
y=2z>—4x+5 (&)

(4) z=20, %, RAMETA2ELIE0H, a<0&R), THEIZ (2, 7) TH5.
KD 5 2 B,

y=alx—2)2+7 (a <0)
EBIFEH. NN, H (4, -1) Z#ELDT,
—1=a(4-2)%+7

—1=4a+7
4a=-—38
La=-2(<0)
L-oT,

y=—2x—-2)%+7
=20 —dx+4)+7
Ly=-22"+8z -1 (&)



(4]

y=azr’+2ax+a+6 ---@, y=a>+br+20—6 ---®

(1)

y = axr® 4 2ax+a+ 6
=a(z®* +2z) +a+6
a{(x+1)* =1} +a+6
=a(x+1)2?—-a+a+6
=a(z+1)*+6

LoT, ROLEMOMEEL, (-1, 6) (&)

y=a>+br+2b—6

B b\? b2
—(!E-Fg) _T+2b_6
® DT T 7% N1, y BN p PATREIL 727 7 7 0L,
B b 2 p?
y—(l‘—F?—l) —T+2b—6—|—p

ThHY, THHOMER,

b b2
( 5L~ 2 6+p>

CDTTIN @ EERATODEMEL, FNENORWEO XD 2 RD1R
BrELL, THEOMHENR—HTLIETHIL0H

a=1 O
_24_1:_1 @
2
b2
— T t-6+p=6 0O

@ib,—%=—2 L b=4
hze @IfRALT,

42
—T+2-4—6+p=6
—2+p=6
. p=38
P&,

a=1,b=4,p=8 (&)



[5] AP EMy =203 FIZHdHh5, (Kt 2t—3) EBIT5.

72, 7973 y=222 07 77 ATREILIZDDOTHL05, €0 22 OREIE
2CTH5.

LoT, Kob2 kB, KokHi1cEsSND,
y=2x—1t)*+2t-3
CDT T T, 3) x#bHND,

3=2(1-t)%*+2t-3
2% — 2t —4=0

t?—t—-2=0
t+1)(t—2)=0
Lt=-1,2

INE2A-ZIZEFNENRATL L,

t=—10r%E 20-3=2.(-1)—3=-5(<0)
t=20r%  20-3=2.2-3=1(>0)

D, THED yHEEZATHILINS, t=—1Dk EPEMEIHET .
LT,

y=2{z—(-1)}*+2-(-1)-3
=2(x+1)*-5
. y=23:2—+—4w—3 (&)



(6]

y=—x?+2z+1
= —(z—1)2+2

E0, 1), Qo7 7xnlt, RORDEHIIhD.

(1) (2)

L72h> T, ROLENME, HMEE, ROL)IZ% 5.

(1) -1Sz<2nt
RAE: 2 (x=10&%) (&)
RME: —2 (z=-10D&%) (&)
(2) 2Sr<3DLX

RAfE: 1 (x=20&%) (&)
RME: BHL (B)



